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1 Agriculture, dairy farming are belonging to which of the following sectors? 
A. Primary 
B. Secondary 
C. Tertiary 
D. Scientific technology 

2 Which one of the following activities comes under the secondary sector? 
A. Production of a good by exploiting natural resources 
B. Activities in which natural products are changed into other forms through ways of 

manufacturing 
C. Activities, by themselves, do not produce a good but they are an aid or support for the 

production process. 
D. Mineral excavation 

3 What does Gross Domestic Product show? Pick up the correct statement given below: 
A. It shows the number of people involved in production in a particular year. 
B. It shows the total product of a country in a given year without counting the country’s total 

resources. 
C. It shows how big is the economy of a country in a given year in terms of its total output. 
D. It shows the total value of trade transactions of a country in a particular year. 

4 MGNREGA (Mahatma Gandhi National Rural Employment Guarantee Act of 2005) has 
guaranteed_________ days of employment in a year in many districts of India. 

A. 200 days 
B. 100 days 
C. 30 days 
D. 60 days 

5 Who among the following fall under the organized sector? 
A. Raghu, a daily wage labourer working in a dam site under a contractor. 
B. Nafeesa, a doctor getting all employment benefits. 
C. Sumit, a cleaning staff in a private bank. 
D. Ammu, a tailor stitching clothes at his home. 

6 Rituraj is employed as a government teacher. Which of the following statements is right about 
him? 

A. He works in secondary sector 
B. He works in private sector 
C. He works in unorganized sector 
D. He works in public sector 

7 The sectors which are classified into public and private on the basis of the  _______________. 
A. Employment condition 
B. The nature of economic activity 
C. ownership of enterprises 
D. Number of workers employed in the enterprise 
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8 In India, the _________ sector is the largest employer while the ___________sector is the 
largest income generator.   

A. Secondary, Tertiary 
B. Primary, Secondary 
C. Primary, Tertiary 
D. Tertiary, Secondary 

9 Which one of the following is the way to solve the underemployment situation in rural areas?  
A. Banks should provide agricultural credit to the farmers.  
B. Tourism, regional craft industry and Information Technology should be encouraged. 
C. New dams and canals should be constructed. 
D. All of the above 

10 The important objectives of the public sector enterprises are to promote: 
A. Social welfare and security  
B. Profit making                                                        
C. Entertainment                                        
D. None of the above 

11 In developed countries, the _________sector has become the most important in terms of total 
production. 

A. Primary  
B. Secondary 
C. Tertiary 
D. Public 

ASSERTION AND REASONING: -  
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Read the 
statements and choose the correct option: 

12 Assertion (A): Reliance Industries Limited is a privately-owned firm. 
Reason(R): Government is a major stakeholder in Reliance Industries Limited. 
Options: 

A. Both A and R are true and R is the correct explanation of A.  
B. Both A and R are true and R is not the correct explanation of A. 
C. A is true but R is false.  
D. A is false but R is true. 

13 Assertion(A): In certain areas, the government has to undertake heavy spending to ensure that 
the facilities are available to everyone in the society. 
Reason(R): Some of the things needed by the society, require spending large sums of money, 
which is beyond the capacity of the Private sector. 
Options: 

A. Both A and R are true and R is the correct explanation of A.  
B. Both A and R are true and R is not the correct explanation of A. 
C. A is true but R is false.  
D. A is false but R is true.  

 


